

Thirth on this house the sections



2401105162



Estd. 1949

Accredited Grade A+ by NAAC

THE MAHARAJA SAYAJIRAO UNIVERSITY OF BARODA

We, the Chancellor, the Vice-Chancellor and the Members of the Board of Management of The Maharaja Sayajirao University of Baroda Certify that

Pasad Rakshit Hiteshbhai

8021058421

Having been examined under the prescribed study by the University and adjudged to have been qualified for the Degree of Bachelor of Commerce in Accounting and Financial Management under the Faculty of Commerce with

Grade - D

and has been duly admitted by the Board of Management for the Degree of Bachelor of Commerce

On the Twenty ninth day of the month of December in the year Two thousand twenty four In the testimony whereof given under the seal of the University



Shubbanginisiqu Jackmad Chancellor





Fatehgunj, Vadodara-390002, Gujarat (India)

Statement of Grade for First Semester of BCOM-III [Bachelor of Commerce] Examination: May-2024

Name : Pasad Rakshit Hiteshbhai Mother Name : Rekha Pasad

PRN: 8021058421 **Seat Number**: 509540 (Repeater)

Faculty: Faculty of Commerce Specialisation: No Branch

Course Code	Course Name	Credits	Grade Obtained	Grade Points	Earned Gr. Points	Remark
ACF1502	Audit & Assurances	3	D	6.00	18.00	E, C
ACF1516	Financial Management	3	E	5.00	15.00	E, C
ACF1518	GST: Accounting Law & Procedure	3	D	6.00	18.00	E, C
BEC1512	International Trade	3	Е	5.00	15.00	E, C
CBM1502	Organizational Behaviour	3	D	6.00	18.00	E, C
CBM1505	Marketing Communication & Advertising	3	Е	5.00	15.00	E, C
LAW1507	Business Law-I	3	D	6.00	18.00	E, C
FSBCOM-III	FSBCOM-III Earned CREDIT: 21 EGP: 117.00 SGPA: 5.57		STATUS : Complete GRADE : D Ordinance : NOT APPLIED			
BCOM-I(Seat No : 215946) (Exam Event : May-2022)		Total Credit : 36 Earned Credit : 36	EGP : 261	SGPA: 7.25	Status : Complete	Grade: B
BCOM-II(Seat No : 408896) (Exam Event : May-2023)		Total Credit: 42 Earned Credit: 42	EGP : 216	SGPA: 6.12	Status : Complete	Grade: C
FINAL CUMULATIVE	Percentage : 60	Total Credits : 99 Earned Credits : 99	Total EGP : 594		CGPA: 6	Grade:

Abbreviations:- IA: Internal Assessment; UA: University Assessment; AM: Assessment Method; Sts: Result Status; Rmk: Remark/s; P: Pass; F: Fail; AB: Absent; RR: Result Reserved; X: Past Appearance; E: Exempted; T/ATKT: Allowed to keep Term; M: Performance Cancelled; D: Detained; PNO: Paper Not Opted; EHB: Explicitly Hold Back; NP: No Punishment; N: Not Exempted; C: Current Appearance; SPH: Special Passing Head; TDL: To be Declared Later; @@: Exemption Approved; NE: Not Eligible

DISCLAIMER: These marks/Grades and result Information is purely a 'Provisional Statement of Marks/Grade'
This Provisional statement shall not be used for any other purpose other than admission, filling exam forms and

redressal procedure

Concerned Faculty/College admitting the student must verify the true state of this Provisional Result from https://admission.msubaroda.ac.in/vidhyarthi/

In case of any query, please contact university authorities for further clarifications.

Printed On: 27-3-2025 | 21:27:9



Fatehgunj, Vadodara-390002, Gujarat (India)

Statement of Grade for Second Semester of BCOM-III [Bachelor of Commerce] Examination: May-2024

Name : Pasad Rakshit HiteshbhaiMother Name : Rekha PasadPRN : 8021058421Seat Number : 608749 (Fresher)

Faculty: Faculty of Commerce Specialisation: Accounting & Financial Management

Course Code	Course Name	Credits	Grade Obtained	Grade Points	Earned Gr. Points	Remark
ACF1615	Company Audit	3	D	6.00	18.00	E, C
ACF1618	Personal Financial Planning	3	D	6.00	18.00	E, C
BEC1614	International Finance	3	E*	5.00	15.00	E, C
BNK1603	Insurance Products	3	Е	5.00	15.00	E, C
CBM1601	Marketing Research	3	Е	5.00	15.00	E, C
CBM1604	Sales Management & Sales Promotion	3	Е	5.00	15.00	E, C
LAW1608	Business Law-II	Business Law-II 3		5.00	15.00	E, C
SSBCOM-III	GP:111.00 SGPA:5.29	STATUS : Complete GRADE : D Ordinance : *APPLIED				
FSBCOM-III (Seat No. : 509540 Earned CREDIT : 21 Exam Event : May-2024)		EGP: 117 SGPA: 5.57	STATUS : Complete GRADE : D Ordinance : NOT APPLIED			ice : NOT
BCOM-I(Seat No : 215946) (Exam Event : May-2022)		Total Credit: 36 Earned Credit: 36	EGP : 261	SGPA: 7.25	Status : Complete	Grade : B
BCOM-II(Seat No : 408896) (Exam Event : May-2023)		Total Credit: 42 Earned Credit: 42	EGP : 216	SGPA: 6.12	Status : Complete	Grade : C
CUMULATIVE FOR CURRENT PART Percentage: 58.8 CGPA: 5.88		Earned Credits : 42	Credits: 42 Total EGP: 228		228	
		Status : Complete G		Grade : D		
FINAL CUMULATIVE	Percentage : 58.8	Total Credits : 120 Earned Credits : 120	Total EGI	P: 705	CGPA: 5.88	Grade : D

Abbreviations:- IA: Internal Assessment; UA: University Assessment; AM: Assessment Method; Sts: Result Status; Rmk: Remark/s; P: Pass; F: Fail; AB: Absent; RR: Result Reserved; X: Past Appearance; E: Exempted; T/ATKT: Allowed to keep Term; M: Performance Cancelled; D: Detained; PNO: Paper Not Opted; EHB: Explicitly Hold Back;

NP: No Punishment; N: Not Exempted; C: Current Appearance; SPH: Special Passing Head; TDL: To be Declared Later; @@: Exemption Approved; NE: Not Eligible

DISCLAIMER: These marks/Grades and result Information is purely a '**Provisional Statement of Marks/Grade**'
This Provisional statement shall not be used for any other purpose other than admission, filling exam forms and redressal procedure

Concerned Faculty/College admitting the student must verify the true state of this Provisional Result from https://admission.msubaroda.ac.in/vidhyarthi/

In case of any query, please contact university authorities for further clarifications.

Printed On: 3-3-2025 | 9:43:5



Fatehgunj, Vadodara-390002, Gujarat (India)

Statement of Grade for Second Semester of BCOM-II [Bachelor of Commerce] Examination: May-2023

Name : Pasad Rakshit HiteshbhaiMother Name : Rekha PasadPRN : 8021058421Seat Number : 408896 (Fresher)

Faculty: Faculty of Commerce Specialisation: No Branch

Course Code	Course Name	Credits	Grade Obtained	Grade Points	Earned Gr. Points	Remark
ACF1401	Elements of Indirect Taxes 3		Е	5.00	15.00	E, C
ACF1402	Management Accounting	3	D	6.00	18.00	E, C
ACF1403	Corporate Accounting	3	Е	5.00	15.00	E, C
BEC1412	Macro Economic Issues and Policies	3	E*	5.00	15.00	E, C
CBM1401	Marketing Management	3	D	6.00	18.00	E, C
CBM1402	Entrepreneurship & Small Business Management		Е	5.00	15.00	E, C
ENG1411	Personality Development & Soft Skills in English For Effective Communication		Е	5.00	15.00	E, C
SSBCOM-II	SSBCOM-II Earned CREDIT: 21 EGP: 111.00 SGPA: 5.29		STATUS : Complete GRADE : D Ordinance : *APPLIED			
FSBCOM-II (Seat No. : 313267 Exam Event : November-2022)	Earned CREDIT: 21 EGP: 105 SGPA: 5		STATUS		GRADE : E Ord PPLIED	inance :
BCOM-I(Seat No : 215946) (Exam Event : May- 2022)		Total Credit : 36 Earned Credit : 36	EGP : 261	SGPA: 7.25	Status : Complete	Grade : B
CUMULATIVE FOR Percentage : 61.2		Earned Credits : 42		Total EGP : 216		
CURRENT PART	CGPA: 6.12 Status: Complete		Grade : C			
FINAL CUMULATIVE	Percentage : 61.2	Total Credits : 78 Earned Credits : 78	Total EG	P : 477	CGPA: 6.12	Grade : C

Abbreviations:- IA: Internal Assessment; UA: University Assessment; AM: Assessment Method; Sts: Result Status; Rmk: Remark/s; P: Pass; F: Fail; AB: Absent; RR: Result Reserved; X: Past Appearance; E: Exempted; T/ATKT:

Allowed to keep Term; M: Performance Cancelled; D: Detained; PNO: Paper Not Opted; EHB: Explicitly Hold Back;

NP: No Punishment; N: Not Exempted; C: Current Appearance; SPH: Special Passing Head; TDL: To be Declared Later; @@: Exemption Approved; NE: Not Eligible

DISCLAIMER: These marks/Grades and result Information is purely a '**Provisional Statement of Marks/Grade**'
This Provisional statement shall not be used for any other purpose other than admission, filling exam forms and redressal procedure

Concerned Faculty/College admitting the student must verify the true state of this Provisional Result from https://admission.msubaroda.ac.in/vidhyarthi/

In case of any query, please contact university authorities for further clarifications.

Printed On: 27-3-2025 | 21:26:36



Fatehgunj, Vadodara-390002, Gujarat (India)

Statement of Grade for First Semester of BCOM-II [Bachelor of Commerce] Examination: November-2022

Name : Pasad Rakshit HiteshbhaiMother Name : Rekha PasadPRN : 8021058421Seat Number : 313267 (Fresher)

Faculty: Faculty of Commerce Specialisation: No Branch

Course Code	Course Name	Credits	Grade Obtained	Grade Points	Earned Gr. Points	Remark
ACF1301	Elements of Direct Taxes	3	Е	5.00	15.00	E, C
ACF1302	Cost Accounting	3	E	5.00	15.00	E, C
ACF1313	Higher Financial Accounting	3	Е	5.00	15.00	E, C
BEC1318	Macro Economic Theory	3	E*	5.00	15.00	E, C
CBM1314	Principles of Management	3	Е	5.00	15.00	E, C
CBM1315	Human Resource Management	3	Е	5.00	15.00	E, C
CBM1316	Business Ethics	3	Е	5.00	15.00	E, C
FSBCOM-II	FSBCOM-II Earned CREDIT : 21		STATUS : Co	omplete GR	ADE : E Ordinance :	*APPLIED
,	BCOM-I(Seat No : 215946) (Exam Event : May-2022)		EGP : 261	SGPA: 7.25	Status : Complete	Grade: B
FINAL CUMULATIVE	Percentage : 64.2	Total Credits : 57 Earned Credits : 57	Total EGP : 366		CGPA: 6.42	Grade : C

Abbreviations:- IA: Internal Assessment; UA: University Assessment; AM: Assessment Method; Sts: Result Status; Rmk: Remark/s; P: Pass; F: Fail; AB: Absent; RR: Result Reserved; X: Past Appearance; E: Exempted; T/ATKT: Allowed to keep Term; M: Performance Cancelled; D: Detained; PNO: Paper Not Opted; EHB: Explicitly Hold Back; NP: No Punishment; N: Not Exempted; C: Current Appearance; SPH: Special Passing Head; TDL: To be Declared Later; @@: Exemption Approved; NE: Not Eligible

DISCLAIMER: These marks/Grades and result Information is purely a 'Provisional Statement of Marks/Grade'
This Provisional statement shall not be used for any other purpose other than admission, filling exam forms and redressal procedure

Concerned Faculty/College admitting the student must verify the true state of this Provisional Result from https://admission.msubaroda.ac.in/vidhyarthi/

In case of any query, please contact university authorities for further clarifications.

Printed On: 27-3-2025 | 21:25:47



Fatehgunj, Vadodara-390002, Gujarat (India)

Statement of Grade for Second Semester of BCOM-I [Bachelor of Commerce] Examination: May-2022

Name : Pasad Rakshit Hiteshbhai Mother Name : Rekha Pasad
PRN : 8021058421 Seat Number : 215946 (Fresher)

Faculty: Faculty of Commerce Specialisation: No Branch

Course Code	Course Name	Credits	Grade Obtained	Grade Points	Earned Gr. Points	Remark
ACF1204	Financial Accounting	3	D	6.00	18.00	E, C
BEC1204	Micro Economics	3	E	5.00	15.00	E, C
BEC1205	Indian Economic Policy & Planning	3	D	6.00	18.00	E, C
CBM1201	Functional Management	3	D	6.00	18.00	E, C
ENG1218	Developing Communication Skills in English	3	С	7.00	21.00	E, C
STA1201	Business Statistics	3	В	8.00	24.00	E, C
SSBCOM-I	Earned CREDIT: 18 EGP: 114.0 : 6.33	0 SGPA	STATUS : Complete GRADE : C Ordinance : N APPLIED			nce : NOT
FSBCOM-I (Seat No. : 115927 Exam Event : November-2021)	Earned CREDIT: 18 EGP: 147 SGPA 8.17		STATUS : Complete GRADE : A Ordinance : APPLIED			nce : NOT
CUMULATIVE FOR CURRENT	Percentage: 72.5	Earned	d Credits : 36 Total EGP : 261			
PART	CGPA: 7.25	Status :	s : Complete Grade : B			

Abbreviations:- IA: Internal Assessment; UA: University Assessment; AM: Assessment Method; Sts: Result Status; Rmk: Remark/s; P: Pass; F: Fail; AB: Absent; RR: Result Reserved; X: Past Appearance; E: Exempted; T/ATKT: Allowed to keep Term; M: Performance Cancelled; D: Detained; PNO: Paper Not Opted; EHB: Explicitly Hold Back; NP: No Punishment; N: Not Exempted; C: Current Appearance; SPH: Special Passing Head; TDL: To be Declared Later; @@: Exemption Approved; NE: Not Eligible

DISCLAIMER: These marks/Grades and result Information is purely a '**Provisional Statement of Marks/Grade**'
This Provisional statement shall not be used for any other purpose other than admission, filling exam forms and redressal procedure

Concerned Faculty/College admitting the student must verify the true state of this Provisional Result from https://admission.msubaroda.ac.in/vidhyarthi/

In case of any query, please contact university authorities for further clarifications.

Printed On: 19-2-2025 | 18:39:10

THE MAHARAJA SAYAJIRAO UNIVERSITY OF BARODA Fatehguni, Vadodara-390002, Gujarat (India)



Statement of Grade for First Semester of BCOM-I [Bachelor of Commerce] Examination: November-2021

Name : Pasad Rakshit HiteshbhaiMother Name : Rekha PasadPRN : 8021058421Seat Number : 115927 (Fresher)

Faculty: Faculty of Commerce Specialisation: No Branch

Course Code	Course Name	Credits	Grade Obtained	Grade Points	Earned Gr. Points	Remark
ACF1103	Fundamentals of Accounting Theory and Practices	3	В	8.00	24.00	E, C
BEC1105	Elements of Economic Theory	3	С	7.00	21.00	E, C
BEC1106	Indian Economic Structure	3	А	9.00	27.00	E, C
CBM1104	Structure & Process of Business	3	В	8.00	24.00	E, C
ENG1121	Fundamentals of English & Communication	3	А	9.00	27.00	E, C
STA1101	Elements of Statistics	3	В	8.00	24.00	E, C
FSBCOM-I	Earned CREDIT: 18 EGP: 147.00 SGPA: 8.1	STATUS : Complete GRADE : A Ordinance : NOT APPLIED				

Abbreviations:- IA: Internal Assessment; UA: University Assessment; AM: Assessment Method; Sts: Result Status; Rmk: Remark/s; P: Pass; F: Fail; AB: Absent; RR: Result Reserved; X: Past Appearance; E: Exempted; T/ATKT: Allowed to keep Term; M: Performance Cancelled; D: Detained; PNO: Paper Not Opted; EHB: Explicitly Hold Back; NP: No Punishment; N: Not Exempted; C: Current Appearance; SPH: Special Passing Head; TDL: To be Declared Later; @@: Exemption Approved; NE: Not Eligible

DISCLAIMER: These marks/Grades and result Information is purely a 'Provisional Statement of Marks/Grade'
This Provisional statement shall not be used for any other purpose other than admission, filling exam forms and redressal procedure

Concerned Faculty/College admitting the student must verify the true state of this Provisional Result from https://admission.msubaroda.ac.in/vidhyarthi/

In case of any query, please contact university authorities for further clarifications.

Printed On: 19-2-2025 | 18:38:36